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37.5 626.8 | 7454.8 92.2% 80 - 100
- - | 7454.8 92. 2% .
19.0 | 2,908.8 | 4546.0 56.3% 55 — 100
0 - | 4546.0 56.. 3%;
0 - | 4546.0 56. 3%
4.75 | 1,373.6 | 3172.4 39.3%1 30 ~70
0 - | s172.4 39.3%]
2.0 908.7 | 2263.7 28.0% 20 - 55
0 - | 2263.7 28.0%!
0 - | 2263.7 28.0%|
0.425 | 1,177.6 | 1086.1 13.4% 5 - 30
0 - | 1086.1 13.4%:
0 - | 1086.1 13. 4%
0 - | 1086.1 13. 4%
0.075 2 - 10
FAN 1,086.1 ;
g 7 8,081.6 |
H] 11 |




d o+ = %
AR E g o03 AF A 2014.11.10.
=AdA 98
A g W W KS F 2306:2000 Al g oA 54
Al s W3 1
WW: 1197.8 D: R DW: Eww: DW:
DWV: 1169.9 TW: 193.5|DV: TV: iDV: TV :
Ww: 27.9Ws:  976.4|Ww: Ws: EWW3 Ws:
Wi 2.9 W: : W
g g H 5 A !
WW: 1440.5 DV: R DV : iww: DV :
DV: 1422.6 TW: 204.9|DV: ™W: ti: ™W:
Ww:  17.9Ws: 1217.7|Ww: 0 Ws: i Ws:
W 1.5 W i W
35 W) 2.2 |
Al 'R W % i :
W : DV : {iE DV : {iE DV :
NE TV: EDW: TV: EDWI TV:
Ww: Ws: iWwi Ws: iWwi Ws:
W: : W: : W:
SR | |
W NE Eww: NE Eww: DY
DW: TW: iDV: TW: iDV: TW:
Ww: Ws: iWwI Ws: iWwI Ws:
W: | W: : W
|




Al

A

A A0 . 08mm

}

A
1l

Aol ESHE

SENA
=

:2014.11.10.
ce3k4d

A9

-23

23]

o]
T
!

=

3%

2

7=

=59

9 A

Al

: KS F 2511:2007

Gt

—0
g
<

H

B-C

o] Az (@) &4 2 () [0.08mA] 53 (%)

N
< &
| <t
[an)]
=gl 5
o= 2| 8
2 A BT
&_5
]__/l.
H|S
+ | B
=)

X 100
9.9%

5000.7




: KS F 2503 :2007

TH

—0

o

H

=

© >~ | = || vl o |x~x|lo|l =] x| o
J y O SR BRI = B\ B = N el e .
N nlo |l 8|88 ||| =] o
[aN| ™ — 0 . . . . A . .
o ©C |l F |l NN N O ]SO
o~ < |
0 Lo o) o o~ ™ <+
: : : o~ N — Te)
0 N ap) o~ o~ 0 o)
— Lo — < N ™ ™ o
© < | ©
|
o} | X -~
(e ~ | -
2| o M &
£ T = o
=R R RCH Sl W oy % =2 =
o | = e |Edl g S B
T o | Ao IS S I =
No | N | oF [%F DI 9 O =
) i o Pze | e | | o
B IR o N B o T = o | S 4
N | R | e | M N O G = | oF Ul o) ol
S B N I - o (OC =N (e g B o | =%
A o Mo [ No [N | M BT MW | " TR A R TR
== I I P Y S v I == s = T = O B~
© | @00 ® | ©|0|0]|®¥ |06




BaAd 2~ A7)0l 9% F&I A vtE AlY
AgHE @ Z-21 ASHAXL: 2014.11.10.
7|s®M AR 23514
Al gt @ KS F 2508:2007 Al & A USE
A el 27| (mm)
e |Hpel | 3 ™S |[AlEHe AR 27 (g)
& A ==
80 60
60 50
50 40
40 25 1,251.5
25 20 A 12 500 1,251 .1
20 15 1,250.3
15 10 1,250.3
10 5
5 2.5
gt A 5,003.2
& & oOfx b=
%M;Q_T ‘ﬁ' ;1'|7(mg”;°“ == 3,043.6
® Hg &de 74 © - @ (g) 1,059.6
@otezZg = ——  *100 21.2




d| ] &
o A Al
A A ¥ E-23 Al 8 2 #}: 2014.11.10.
E e R R
Al & ¥ W KS F 2312:2001:E I I e
= A= 8 2y 2206.55 cii 2EA 5967.1¢g
9 9214.078 cnf 5892.9 g
i} = HH##
[ [
(A E+EZ) A (g) 1 |11012.5 | 2 |11218.0 i3 |11437.0
AeNsHA(g) 50454 : 5250.9 : 5469.9
AW =Y t(g/cr) 2.287 ' 2.380 ' 2.479
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T 7 L(m‘?n)" 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
(skg ”f?’; 0 44 .0 64.0 84.0 101.0 111.0 127.0 162.0 210.0 338.0 435.0
=7 e
37 °'s 7 0 2.2 3.3 4.3 5.1 5.7 6.5 8.3 10.7 17.2 22.2
(kg f/
=7 e
?M?/?m 0 0.220 0.320 0.419 0.504 0.554 0.634 0.809 1.049 1.688 2.172
Ztg g 0 107.0 201.0 278.0 350.0 427.0 490.0 612.0 733.0 936.0| 1120.0
S =y
38 °hfg‘°f/ 0 5.5 10.2 14.2 17.8 21.8 25.0 31.2 37.4 47 .7 57.1
S ey
()(}I\/E/(r)nz) 0 0.534 1.004 1.388 1.748 2.132 2. 447 3.056 3.660 4.674 5.593
Ztg F’; 0 115.0 275.0 466.0 671.0 869.0| 1060.0| 1419.0| 1758.0| 2492.0| 3251.0
=7 e
39 °hfg‘°f/ 0 5.9 14.0 23.7 34.2 44 .3 54 .0 72.3 89.6 127.0 165.7
=7 e
?}I\E/?w) 0 0.574 1.373 2.327 3.351 4.339 5.293 7.086 8.779| 12.444| 16.234
17 3] (2.5mm) gg X100 = 8.0% 5. 0mm 110°03 X100 =  10.2%
42 3] (2.5mm) 2519 X100 = 30.9% 5. 0mm 130°73 X100 =  35.5%
_ 4.3 ~ 8.8 _
92 3  (2.5mm) x X100 = 62.9% 5. 0mm 103 X100 =  85.2%
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